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BCA-203
B.C.A. (Second Year) Examination, 2019
FUNDAMENTALS OF OPERATING SYSTEM

k 34 Paper—IIT
Time Allowed : Three Hours’

Maximum Marks : 100

PART=A [Marks : 20
Answer all quesﬁons (50 words each).

All questions carry equal marks.

PART-B = [Marks : 50

 Answer five questions (250 words each), selecting one

‘Q)uestion from each Unit. All questions cari'y equal marks.

-

L=’

PART-C [Marks : 30
-~ , :

Answer any two questions (300 words each).

All questions carry equal marks.
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PART-A
s

Answor (hé following chHLif)nH :

(1) How Multiprogramming increases utilization of
Ql’U ?

) What is Hand held system ?
(3i1) Whut i8 ﬂchcdulingr Criteria ?
(\y) Wlmt do you me

an by Co-operating Process ? .
(v_) Whnt 18 Critical section ?

/YWlmL 1s Synchronization ? ‘

Nyy/What do you mean by allocatlon of Frames ?

~ (viii) What is Belady anomaly ?

(1[;{)/G‘I/ two fcatures of Linux.

/)
| M(_\):)/Gve difference between Kernel and Sﬁells.
A PART-B

UNIT-I

¢
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Ay

of Inter-process

the advantages
cation take place in

5. What are .
Communi

Communication ? How

shared memory Enviroﬁment ? Explain.

UNIT-III

What is Semaphore ? List the types of Semaphore

and show that, if Wait() and Signal() Semaphore

y ) operations are not executed atomically then mutual
exclusion may be violated.

7 Discuss various techniques to Recover from Deadlock.

UNIT-IV

Consider the following pages reference string

1,2,38,4,2,1,5,6,2,1,2,3,7,6,3,2, 1, 2.3, 6

How many pages fault would occur for the optimal
page replacement and LRU (Least Recently Used)

algorithm assuming three frames and all frames are

initially empty ?

9. What is Thrashing ? What is cause ‘of VThrashing ?
How does system detect Thrashing ? What can the

system do to eliminate this ﬁroblem.

S ) . UNIT-V

10.- Explain the design principles of Linux.
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11. Explain the Kernel modules of Linux.

|

\
PART-C

12. Write short notes on the following :
(a) Vertual machine.

(b) Clustered system.

}3./ Discuss performénce evaluation of FCFS (First Come
First Served) and RR (Round Robin) scheduliﬁng’.l

X/ Efiglain the use of Banker’s algorifhm for multiple

resources for deadlock avoidance with illustration.
ﬁxplain the following : -. "
\Lff{ Paging g _ ST

/%gmentation , :
| é)//Multiprogramming with fixed partition

(d) Swapping.
16. Explain the following with;r'espe‘ct to Linuxr: ('

(a) Process scheciuling

~

(b) Network stru¢ture. :
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